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Комплект оценочных материалов по дисциплине  
 «Иностранный язык» 

 
 
Задания закрытого типа 

Задания закрытого типа на выбор правильного ответа 

1. Выберите один правильный ответ: 
This report is the ____I have ever read 
А) good  
Б) better  
В) best 
Правильный ответ: В 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
2. Выберите один правильный ответ: 
You ____ get a visa when you travel abroad. 
А) must  
Б) can  
В) may  
Правильный ответ: А 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
3. Выберите один правильный ответ: 
I want _____ a well-paid job soon. 
А) getting 
Б) to get  
В) get 
Правильный ответ: Б 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
4. Выберите один правильный ответ: 
I can't come to the meeting now because I ____ for the tomorrow's conference. 
А) prepared 
Б) prepare 
В) am preparing 
Правильный ответ: В 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
Задания закрытого типа на установление соответствия 
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1. Установите правильное соответствие, чтобы получить фразы, необходимые 
для телефонного разговора. Каждому элементу левого столбца соответствует 
только один элемент правого столбца. 
1) Could you tell me А) is no answer. 
2) I can transfer you  Б) her email address, please? 
3) I'm sorry there  В) calling, please? 
4) Who's  Г) to her voicemail. 

Правильный ответ:  
1 2 3 4 
Б Г А В 

Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
2. Установите правильное соответствие частей вопросительного предложения. 
Каждому элементу левого столбца соответствует только один элемент правого 
столбца. 
1) He has just come to our new office,  А) did she? 
2) She didn't do the task yesterday, Б) can't we? 
3) We can discuss this issue now, В) aren't they? 
4) They are well-trained specialists, Г) hasn't he? 

Правильный ответ:  
1 2 3 4 
Г А Б В 

Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
3. Установите правильное соответствие вопросов и ответов. Каждому элементу 
левого столбца соответствует только один элемент правого столбца. 
1) What is his occupation? А) No, she can't. She doesn't know it. 
2) Can Mary speak English? Б) No, I haven't. But I'm going to visit 

it next summer. 
3) Have you ever been to Volgograd?  В) He is a scientist. 
4) When will you finish your research? Г) By the end of this week, I hope 

Правильный ответ:  
1 2 3 4 
В А Б Г 

Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
4. Установите правильное соответствие терминов определениям. Каждому 
элементу левого столбца соответствует только один элемент правого столбца. 
1) road А) the movement of vehicles, people in 

a particular place or for a particular 
purpose 

2) traffic Б) the application of practical sciences 
to industry or commerce 
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3) technology В) an open way, usually surfaced with 
asphalt or concrete, providing passage 
from one place to another 

4) freight Г) a quantity of goods that are sent 
somewhere, especially in order to be 
sold 

Правильный ответ:  
1 2 3 4 
В А Б Г 

Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
 
Задания закрытого типа на установление правильной последовательности 

1. Расположите части предложения в правильном порядке:  
А) is working  
Б) A young specialist 
В) on the project 
Г) at the moment 
Правильный ответ: Б, А, В, Г 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
2. Прочитайте предложения. Установите их логическую последовательность, 
отражающую основные этапы развития автомобильных дорог. 
А) Road development accelerated in the first half of the 20th century. 
Б) The most remarkable achievement is without doubt the American Interstate 
highway system initiated in 1956. 
В) By the 1920s, the Lincoln Highway, spanned over 5,300 km between New York 
and San Francisco.  
Г) The Germans were however the first to build the modem highway (autobahn) in 
1932 
Правильный ответ: А, В, Г, Б 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
3. Расставьте реплики диалога в правильном порядке: 
А) – We are writing a report for our conference. 
Б) – Oh, that sounds great. Good luck! 
В) – Good morning, Alex. I'm fine, thank you. Sorry, I'm in a hurry. I am going to the 
laboratory now. We are working on an important project. 
Г) – Hello, Lena. I haven't seen you for ages! How are you?  
Д) – What project are you working on? 
Правильный ответ: Г, В, Д, А, Б 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
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4. Установите правильную последовательность событий. 
А) He graduated from the St. Petersburg Naval Cadet School. 
Б) He published "The Explanatory Dictionary of the Living Great Russian Language" 
in four huge volumes in 1863-1866. 
В) Vladimir Dahl was born on the 10th of November 1801 in the town of Lugansky 
Zavod. He grew up under the influence of various ethnic mixture of people and 
cultures. 
Г) V. Dahl died on the 22nd of September, 1872 in Moscow. Descendants set up a 
monument to the great man and in 1986 the Museum of the Kazak Lugansky was 
opened. His name was officially added to the list of the most outstanding people of the 
world community. 
Д) As a military doctor, he took part in the Russian – Turkish War (1828-1829) and in 
the campaign against Poland (1831-1832). 
Правильный ответ: В, А, Д, Б, Г 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
Задания открытого типа 

Задания открытого типа на дополнение 

1. Прочитайте и дополните предложение одним словом.  
This electronic device takes input from the user, processes it, and gives the output. It 
processes the input according to the set of instructions provided to it by the user and 
gives the desired output quickly. This device is called the _______. 
Правильный ответ: computer. 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
2. Прочитайте и дополните предложение одним словом. 
The physical and electronic parts of a computer, rather than the instructions it follows, 
is called ______. 
Правильный ответ: hardware  
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
3. Прочитайте и дополните предложение одним словом. 
_______ is a set of instructions/tasks that the computer performs. 
Правильный ответ:  program / software  
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
4. Прочитайте и дополните предложение одним словом. 
An ________ device is a computer device or hardware that allows the user to provide 
data, input, and instructions to the computer system. 
Правильный ответ: input 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
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Задания открытого типа с кратким свободным ответом 

1. Прочитайте текст и найдите предложение, которое ответит на вопрос: «What 
does logistics involve?» 
Logistics is the art and science of managing and controlling the flow of goods, energy, 
information and other resources like products, services and people from the source of 
production to the marketplace. It is difficult or nearly impossible to accomplish any 
international trading, global export/import processes, international repositioning of raw 
materials/products and manufacturing without a professional logistical support. 
Logistics involves the integration of information, transportation, inventory, 
warehousing, material handling, and packaging. The operating responsibility of 
logistics is the geographical repositioning of raw materials, work in process and 
finished inventories where required at the lowest cost possible. 
Правильный ответ: Logistics involves the integration of information, transportation, 
inventory, warehousing, material handling, and packaging. 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
2. Прочитайте текст и дополните предложение в соответствии с информацией из 
текста: 
Any company has a goal to low costs for ________ and _________ as well as to deliver 
goods to customers fast. 
Traditionally, logistics and transportation are extremely important for successful 
operating of any company as well as the whole market at large. As a rule, the main goal 
of producers and sellers, as well as buyers, is to minimize costs for transportation and 
logistics and deliver goods to customers in possibly shorter terms. In the current 
situation, a variety of tools is used to achieve this goal. Innovative technologies, 
especially IT, computing, Internet, etc., are playing increasingly more important role 
and are commonly used to facilitate transportation and logistics. 
Правильный ответ: Any company has a goal to low costs for transportation and 
logistics as well as to deliver goods to customers fast.  
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
3. Назовите группу указанных предметов одним словом. 
• Motherboard  
• CPU 
• RAM 
• Hard drive 
• Optical drive 
• Network interface card 
• Mouse 
• Keyboard 
• Monitor 
• Printer 
• Speakers 
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Правильный ответ: hardware 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
4. Прочитайте два определения ниже и скажите, о каком термине идет речь: 
1. A machine, usually with wheels and an engine, used for transporting people, goods, 
on land; 
2. Any conveyance for transporting people, etc. especially on land. 
Правильный ответ: vehicle. 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
 
Задания открытого типа с развернутым ответом 

1. Прочитайте текст, найдите предложение в тексте, в котором говорится о том, 
какие возможности предоставляют новые технологии: 
Information technology (IT) is process and "act upon" information at the right time and 
place, makes greater market intelligence possible. IT is instrumental in supporting the 
basic internal and inter-company transactions associated with distribution, transport 
and related services. Technological innovation provides an excellent opportunity to 
integrate the transport modes, optimize their performance, make them safer and help 
make the European transport system compatible with sustainable transport 
development. 
Время выполнения – 10 мин. 
Ожидаемый результат: Technological innovation provides an excellent opportunity 
to integrate the transport modes, optimize their performance, make them safer and help 
make the European transport system compatible with sustainable transport 
development. 
Критерии оценивания: ответ должен содержать такие ключевые элементы, как 
«technological innovation», «opportunity», «to integrate», «to optimize», «to make 
safer», «compatible». 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
2. Прочитайте текст, найдите предложение, в котором говорится о сроках, 
необходимых для обновления автопарка. Переведите предложение на русский 
язык. 
To achieve real environmental objectives, attention should be focused on all motor 
vehicles, not just new vehicles. Features such as on board diagnostics systems can 
monitor engine output, while regular technical inspection reveals if vehicles are well-
maintained and operating under optimal conditions. It takes about ten years for the 
national vehicle fleet to be renewed. Providing incentives to replace old vehicles with 
newer, fuel efficient models, would speed up the process of fleet renewal and help 
reduce carbon gas emissions. 
Время выполнения – 10 мин. 
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Ожидаемый результат: It takes about ten years for the national vehicle fleet to be 
renewed. Обновление национального автопарка занимает около десяти лет. 
Критерии оценивания: предложение должно содержать следующие ключевые 
компоненты: «ten years», «national», «vehicle fleet», «renewed». Предложение в 
переводе должно соответствовать временной форме Present Simple Active Voice. 
Перевод предложения должен содержать следующие ключевые лексические 
элементы: «транспортный парк», «обновленный», «национальный», «десять 
лет».  
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
 
3. Переведите текст по специальности на русский язык: 
Transport is a key factor in modern economics. However, there is a permanent 
contradiction between society, which demands ever more mobility, and public opinion, 
which is becoming increasingly intolerant of chronic delays and the poor quality of 
some transport services. The transport system needs to be optimized to meet the 
demands of enlargement and sustainable development. Plans for the future of the 
transport sector must take account of its economic importance. It involves 
infrastructure and technologies whose cost to society is such that there must be no 
errors of judgment. 
Время выполнения – 20 мин. 
Ожидаемый результат: 
Транспорт является ключевым фактором в современной экономике. Однако, 
существует постоянное противоречие между обществом, которое требует все 
большей мобильности, и общественным мнением, которое становится все более 
нетерпимым к хроническим задержкам и низкому качеству некоторых 
транспортных услуг. Транспортная система должна быть оптимизирована для 
соответствия требованиям расширения и устойчивого развития. Планы на 
будущее транспортного сектора должны учитывать его экономическую 
значимость. Он включает инфраструктуру и технологии, стоимость которых для 
общества такова, что не должно быть никаких ошибок в суждениях. 
Критерии оценивания: Более 50% перевода отвечает содержанию оригинала при 
наличии незначительных стилистических и лексических неточностей. До 70% 
предложений переведены без лексических и грамматических ошибок. 
Компетенции (индикаторы): УК-4 (УК-4.1, УК-4.2) 
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